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1 S5HR | 285c | 29% | 29038 |117.06 30;;;]7_5/ REEMR 3%;51;2 3_55/5;
2 58 | 285c | 208 | 2902%F |117.06 30;;;7_5/ REEMR 3%;51;]3 3_55/5;
3 S5 | 285t | 28K | 2803%F |117.06 30:/;7_5/ REEMA 3%;5;2 5_55/5;
4 | stk | 285 | 288 | 28028 |117.06 30;;;7_5/ HERH 3%;;;"1' ;5/5;
5 | s | 285 | 278 | 27038 [117.06 30;;;;_':/ HERH 3§2§EE§E ;5/5;
6 | StR |28y | 278 | 2702% |117.06 30;;;;7_“/ HEEH 3%;51;2 ;5/5;
7 58 | 285t | 268 | 260385 |117.06 304123;;“/ BEEMH 3%;;;2 ;5/5;
8 | stk | 28z | 268 | 26028 |117.06 30;123/;7_“/ B 3%;;;3 ;5/5;
9 S5¢ | 285c | 258 | 2503% |117.06 30;123/;_5/ BEEMH 3%;5;3 ;5/5;
10 | stk | 285 | 258 | 25028 |117.06 30';1,3/;7_5/ BEEH 3%;5533 ;5/5;
11 | s#k | 2885 | 248 | 24038 |117.06 3033/;7_5/ mEEH 3%;51;3 3_55/5;
12 | S#E | 285w | 248 | 24028 |117.06 30;;;]7_5/ HEEH 3§2§§é£ ;5/5;
13 | S# | 285w | 23% | 23038 |117.06 30:/;7_5/ REEH 3%;51;2 3_55/5;
14 | sHE | 285 | 23#% | 23028 |117.06 30;/;7_5/ HERn 3%;;;]3 5_55/5}35
15 | stk | 285T | 228 | 22038 |117.06 30-1-5;_5/ BREEHR 3%;;;"1' ;5/5;
16 | 5#k | 285 | 228 | 22028 |117.06 30;;;_':/ REEH 332%5;"1' ;5/5;
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17 sHE | 28T 21%% 21038 |117.06|30.375T/ BEEH 3E2[F2B | 3555
m/B 2f& 7t/B

_ o 30.375%/ 3E2[T2 B | 3555

18 S5 | 285 | 214% 21028 [117.06 /B BEEZMH N =/8
_ o 30.987%/ 3E2[T2B | 3627

19 S5 | 285 | 208k 20038 [117.06 /B BEEZH N =/8
_ o 30.9875%/ 3E2T2B | 3627

20 s¥R | 285T 20#% 20028 [117.06 /B BEEH N =/B
_ o 30.987%/ 3E2T2B | 3627

21 5| 285T 198 19038 |117.06 /B BEEH N =/B
- = 30.987T/ »r 3E2F2L | 3627

22 5#E | 285T 19%% 19028 [117.06 /B BREEH N =/B
- = 30.987T/ »x 3E2F2 | 3627

23 s5iE | 28T 184 18038 [117.06 /B BEEH N /B
- = 30.987T/ - 3E2F2 | 3627

24 5#E | 28T 18%% 18028 |117.06 /B BEEH N =/B
- o 30.987t/ . 3E2T2B | 3627

25 58 | 285T 174 17038 |117.06 /B BEEH =R =/8
— - 30.9875%/ . 3E2fF2R | 3627

26 5% | 28T 17 17028 |117.06 /B BEEH =R =/8
_ o 30.9875%/ % 3E2F 2R | 3627

27 5% | 28T 168 16038 |117.06 /B BEEH IR =/8
_ o 30.987%/ 3T 2P | 3627

28 s¥E | 285T 158 15038 [117.06 /B BEEMH I =/8
— = 30.987%/ 3E2T2B | 3627

29 S#E | 28T 158 15028 [117.06 /B BEEZMH JBE =/8
_ o 30.987%/ 3E2[T2B | 3627

30 s#E | 28T 148 14038 [117.06 /B BEEZH N =/8
_ o 30.987%/ 3E2T2B | 3627

31 s¥R | 285T 145 14028 |117.06 /B BEEH N =/B
_ o 30.987%/ 3E2T2B | 3627

32 5¥R | 285T 138 13038 |117.06 /B BEEH N =/B
- = 30.987T/ » 3E2F2 | 3627

33 5#E | 285T 138 13028 [117.06 /B BEEH A /B
- = 30.987T/ »x 3E2F2 | 3627

34 s | 285T 12%% 12038 |117.06 /B BEEH A /B
- = 30.987T/ o~ 3E2F21 | 3627

35 s¥E | 28T 124% 12028 |117.06 /B BEEH = =/8
36 s¥R | 285T 114 11038 |117.06 | 30.985%/ BEEH 3B2T2R | 3627
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a1 | st | omw | s | sesm |117.06| 2% | mmmp | 3ET2E 3483
m/H 2fA&E t/H
42 | sHR | 285T | sH 8028 |117.06 | 22157/ R 3E2T2B | 3483
m/H 2fAE /8
43 | sHR | 285T | THE 7038 |117.06 | 22757/ e 3E2T2 B | 3483
m/H 2fAE /8
44 | stE | 285w | TR 702% [117.06 29’1757_'5/ IR 3E2T2 B | 3483
m/H 2fHE 7t/H
45 | stk | 285 | ok 6038 |117.06 29'2757_5/ IR 3E2T2 B | 3483
m/H 2fHE /B
46 | SHR | 2885w | Sk 5038 |117.06 29'2757_“/ eI 3E2T2B | 3483
m/A 2fA& /B
47 | sSHE | 2885w | sSK& 5028 |117.06 29'2757_“/ HEEE 3E2T2B | 3483
m/B 2pE 7t/8
48 | siE | 285 | 4% 4038 [117.06 29‘2757_':/ AR 3E2T2R | 3483
m/H 2FE 7T/8
a0 | st |2m7 | 4t | 4028 |117.06 |22 7% | pmmmpm | SE2T2E| 3483
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50 | st | 28w | 3% 3038 |117.06| 2257/ B 3E2T2R | 3483
m/B 2ME | /B
51 | S#R | 285w | 3% 3028 |[117.06 29-2757_'5/ R 3E2fT21 | 3483
m/H 2fAE t/A
52 | SHR | 285w | 28 2038 |117.06 29'2757_':/ HERE 3E2T2 | 3483
m/H 2fA&E /8
53 | StE | 285 | 2#% 2028 |117.06 | 22757/ mamg | S=2T2E | 3483
m/H 2fAE /8
54 | stk | 285w | 18 1028 |[113.46 30;77_“/ e 3E2T2 B | 3483
ni/B 2ME | /8
55 | S5#& | 285 | 18 101% [113.66 | 30.647T/ HERH 3P | 3483
m/A 2E | /8
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